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LO. ing to find miss |

| ook at the angles to the rtght.
What do you notice?

Vertically opposite angles are identical.

A) Which pairs of angles are vertically opposite? List them in your book.
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B) Calculate the missing angles below.

133° b
73°
a
81° /
65°
d
113°
Angle f is equal to 79° C) Do you agree with Annie?
79° because vertically opposite | A
angles are equal. (@ O
/ Explain why/why not.

D) Angle Fis one quarier of the size of angle q
Angle Fis 28°
Are angles x and y vertically opposite? Explain your answer-




